ECON 4120: Mathematics 2

Fall semester 2013

Seminar 7, week 43
From the book:

EMEA: 15.7.3, 15.7.8, 15.8.2, 15.8.4, 15.3.3, 15.4.6
or

LA: 2.1.5, 2.2.4, 2.3.2, 2.3.3, 3.2.5, 3.3.6

From the compendium: Problems

o 111,
9
e 59 a) and c)

Further:
e The price vector is (4,2,5) and you can just afford to buy the commodity
vector (6,4,3). What is your budget constraint?

e Problem 3 of exam Autumn 2007

To get individual solution you can sign up during lectures and seminars on
the list I have and send attempt of solution some days in advance.

Any question, send email to: alice.ciccone@econ.uio.no

Office Hour: Monday 14,30 or by appointment.



